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4. Tefafas sk w1 wom w5t st
fermy e = IR :

Study the following figure and answer
theq:mﬂmglmbelw'
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Which of the following diagr

indicate  the  relatior
Intelligence, Anxiety a-

“ ©

©

TEF Tae

Salve i IxG=]2=a4 =2

(A) 12 (B) 10

© 1u (D) @
S,Adew 2 s R C AR Sy
V8Bm2 IS CHom 2, & =5 & 5all |
HawmEE |

S is taller than A and ¥ 15 tailer than ©
but shorter than V. 5 srter than C, so
who is the tallest among them ?

B) €

(D 5

Oﬂf_’;ﬂ"‘"‘**’
2\ —> 75 o | Schol eachers
F R e H T w0 ] 2w e =
wgw itan 4w § S 3 @ fafka §
T d o

By which letter, the people who live in
joint family but are neither married nor

teachers are represented ?
(A) S \B) R
© Q D) T

e |

wrafen we B U YR R g,
S ATg =T lﬂi fou e £, Pes 3
<+ forg g T 5 SR i e oy
e A R | TR IR R |
In the following ql_l_e!uon_ a word has
been given, followed by four other
words, one of which cannot be formed
using the letters of the given word. Find
that word.
APPLICATION
(A) POLONIA (B) POINT
(C) OPTICAL (D) ANTIC

O TR T b e ) w6 A,

wigrf 4wt s s 1w R | 4 B x
1 &R @7t 2 e wE WA G |
6 AR x 1| FA 7 =G D worw o O H
T # | 6 Tedt x4 ) Ty A B AR
ROAAME | =11 &1 | 365 g aw
6 TR T (6 Fft Yy ), | Fofl g e
4m=l=r(4ﬂ=ﬂawﬁ)ﬁﬁmﬁam
k| -

=R = 3R R o A e R
e, e o w2

A cuboid shaped wooden block has 6 cm
length, 4 em breadth and 1 cm height.
Two faces measuring 4 cm x 1 em are

coloured in black. Two faces measuring
6 cm x | cm are coloured in rad. Two
faces measuring 6 em x 4 cm are

coloured in green. The block is divided

into 6 equal cubes of side 1 cm (from
6 cm side), 4 equal cubes of side 1 cm
(from 4 cm side).

How many cubes will remain if the
cubes having black and green coloured

are removed 7 T e
(A) 16, (B) 8 %
€ 12 ‘(D) 4
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7.
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T & fy o BT W AT T #
wiftm = v 2 | 98 Pl fam g
warg: Qt;
L wesagenmts 3627
2. W9 RFTAEAR

3. R o7 TE AFHF AR |

4. i sis gEL oi AT R |
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A puzzle enthusiast is trying to

remember a code to unlock a mysterious
box. He recalls the following details :

1. The code starts with 3.

~ 2. The code ends with 729.

3.  The second digit is twice the first
digit.

4, The third digit is half of the second
digit. |

Now, idering these diti the

enthusiast has narrowed down four

potential codes for the mysterious box.

Find the suitable one.
@ 363m9 (B) 324729
(©) 342729 (D) 336729

'-ﬂimiahmaﬂzsi’#mlamn
it g frend fow o § | ) w
& woft arelt 5 W WY, R e
ﬁm‘htwmﬁanmtmmh
@1 & 5 i A o /R e A
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1. ﬁ’amtaﬂﬁm foredt
IL ;&mm%mmmmﬂa;

(A) T sAE s

(B) e fr=d U sgmmIF@ R |

(©) 13 sgEmEa )

(D) e frsd | sgEm s R |

In the question below three statements
d by two I bered 1

and II are given. You have to assume

everything in the statements to be true,

then consider the two conclusions

together and decide which of them

logically fi beyond a ble

doubt from the information given in the

statements.

Statements :

L Rabmdmnar.h Tagore wrote many

poem:

1L Every poet  has  asethetic
- knowledge. L

1L Aui.;mem is a part of axiological

Concluslon_u

I, Rabindranath Tagore did different
axiological study.

I He followed the base of logic and

ethics
(A) Nenhm-l nor 11 follows.
(B) Only conclusion I follows.
(C) Both [ and II follow.
(D) Only conclusion I follows.
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9. wm&‘wﬂ(xﬁﬁRw;ﬂ:ﬁﬁ
), (2), (3) 3 (&) F A FA A i
T 1 EH 2

Find out which of the figures (1), (2), (3)
and (4) can be formed from the picces
givm in figure (X).

: )
() (4) \ (BJ (2‘
g g
0. = et imtm"fmwﬂ A w

A

(€}

lcnmﬁwhu 1 &

ﬂtlﬁcatw“
O
®) m@‘%

ISR D) "8

‘A is B's brother. C is D's father. Eis B's
mother. A and D are brothers. How is E
relatedto C 7

(A) Wife (B) Sister-in-law
(C) Niece (D) Sister

12, =% fawew w4 ot fag e wdew 6 i
o & 6 frerm-gem g |
Choose the alternative which closely
resembles the mirror image of the given
combination,
REASONING
(A) DMIMOSAIA (B) OVIIAOZ2430
(C) HAAAZOUIAL (D) HEV20UIUD

h s g

@1

s St ¥ any o 7 & |!’!==hmﬂ
SR § | 7a 24 w0 A, Red
fem g |9 = @ St § e
e fen w2 | TEE R E 0
There are twelve dozen of apples in a
basket. Two dozen are added later. Ten
applcs got spoilt and are removed, The
remaining are transferred equally into two
baskets. How many arc there in each 7
(A) 168 () 89

(C) 158 Dy 79

s 1 T Sl § WE 30 HH & wa
ek T T e |4 R 4 o
A # 3 0 fash 2 T weE R, 5
site 2t 4 12 ot A 7l €,
St 3 forerd AW E 7 A
A crate of mang 8 one
mango for every 30 mangoes in the crate.
If 3 out of every 4 bruised mangoes are
considered unsalable, and there are 12
unsalable mangoes in the u'!te. then how
many mangoes are there in the crate 7
(A) 480 (B) 320

(C) 420 (D) 240
ﬁnﬁfhﬂﬁﬂmmﬁmﬁﬁ(ﬂ
W WA FAET ?

199 2.9/ 3. e 4ﬁur5

5. fonam

Which of the following q’;ﬁm would be
meaningful order of the following words 7
1.Birth 2, Death 3, Funeral

4. Marriage 5. Education

(A) 4,53, L2 (B) 1,54,23
C) 2,3,451 (D) 1,3_,4,5.2

QL

A

follon, - i
(A) lenﬁt;:gnsumnunslm
¢ (B) Rightto Equality
(9] RlshlﬂgnlnlexP!mmm
D) R:gb,thpmdomofl{ehglm Tl

18, Frfifan 8 s w A mfﬁ‘!m
e dwimmamd? |
(A) 3fgw @7 1w

© 27w (D)
(A) 3D (B] 5 sy

" December "May
©) 25t

19, Wﬁﬁ%mmmmi_.

i

Mmmm) e [
®) wwE |

(© foRwufrs
Which of the following Acid is |

0 S
- Wchoflhe.foLIW'!IIg daysuoel!bme(
as “Intemational )

November (D)  16® August '

in Spinach ? 3
(A) OxalicAcid (B) Lactic Ac
(€) Citric Acid

() diefielt e s wn
B) e i A
(C) FresFwie F., wiizer |
D Hifrg AT
“Soldiering with Dignity” is the nml
written on which of the following lna‘.hl
Mnlam;yv%mlmvm
i :
)) Feldcspt}tlmha! Sa$ Eimkshaw
1d Marshal K.
E% f:lﬁssupm Ra\a\m]tb1 Sty

/|

""3

(D) Acetic Acid

ke
e

e ;.;w. P

B
e

mﬁmmﬁmm
i % g s st soehe o 6
ﬁlﬁﬂﬁm%ﬁﬁmﬁﬁhm
tmﬁama?

(D) 3T 3R ety w7l oot woreny
The responsibility of the regulatory and
administrative framework for corparates
in order to make them -effective
contributors to national devel

falls under which of the following
Ministry of India ?

(A) Ministry of Co-operation

EB) Ministry of Planning

iz} Mlmslry of Corporate Affairs

(D) Ministry of Housing and Urban
‘airs

sitfes SrgEUR wETTEn (gen Wi
frefafan ddwel Rt o

(A) *F ®)

(C) ey T

The Physical Research Laboratory (Main
Campus) is situated at which of the
following places 7

(A) Mysuru (B) Pune

(C) Ahmedabad (D) Bengaluru
I W & g v wn (wwegdee) &
Torw wudh Fm w3 7

What is the contact number for Women
Power Line (WPL) in Uttar Pradesh ?

(A) 1044 (B), 105

(€) 114 ) 1090
eeTgw I Frefefes § @ B
T HARE?

(A) T fB‘}/ ATy

(C) wales (D) sifem
“Mamallapuram Utsav" is a festival of
which of the following states ?

(A) Gujarat (B) Tamil Nadu
(C) Kamataka (D) Odisha

5 !
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25, %ﬁ%aﬁ,#
i = R Fafrd 36 P
ﬂﬂaﬂ&w?ﬂﬂﬂﬂﬂﬁ
&Y = (B) ﬂ_ﬂﬁg
L (© Hmem O et
: ..%or of the following nxvgmﬁﬂ
v .\.. ed for purposes other "
creation of physical of finan
the central government 7
(A) | Tax Expenditur’
(B) ‘Revenue ExT

AQ 08_5;;_
83/.?@_??:: _

¥ ”....n.m..”.\.... Ju ! WJA HJN ﬁﬁu_ hnT .&Wh:u. w&ﬂw

ancient Jain and Buddhist
many Mahajanapadas were

ﬁwu Tw elve
m—‘u_ Ten

¢ ¥ #m I owem 4 1
it

(A) e (aferm ua_m.ﬂ_.
®) g (gfer Fa-FEED
(€) i (FEr gferd I
@y wad (e i)
Which of the following is the highest-
ranking Police Officer in the districts of
Uttar Pradesh (except Commissionerate) 7
(A) DCP (Deputy Commissioner of
Police)
(B) PSI (Police Sub Inspector)
(C) ACP (Assistant Commissioner of
Police)

__.__..._.

(D) 8P (Superintendent of Police)

(&)

Whac -h
khant
(A) Soyabean
Wheat

%mw%ﬁgaﬂﬂ

crop ? w ]
(B) Groundnut
AUV Maize

Which 0
con

(A)

New zmnr.: ore Port

(B) Kochi Port

(©)

(D)

oo & FRE ST & T, HieRem "M
sz Mt 3 1922 H e AideR

Kandla Port
Jawaharlal Nehru Port

wiraw fan? \ ..

1922, due to which . om the *.c__os.am 4

incident 7 7

(A)
(B)
©

- (D)

Partition of wnumw_ .
Chauri-Chaura | —nn-noa

Incident
Jallianwala wmn_ Massacre

of the ?:ciEm crop is not a

fthe following port is the largest
tainer port of India ?

Lala Lajpat mw.E Lathi Qﬁ.mn

LT
i P T P RN T A P SN  Y

GL-4 - 73

%mwﬁnﬁm@m?
@ 9 @ SR
(© wE (D) e fewr

The famous. Sﬁwmoo site Bordeaux,
Port of Zoou is situated in which of the

..U_ _
35, | SrETEE MW A (ILO) N TN AW F

/, e frem ot @ w7 %
m STTEEH FRAE AN A T RAA S
| 01 % fT 2002 % arer 5w % R favw
| e T | e P
_ﬂwummmmﬂmﬂﬂiﬁﬂqg»q
.;Qc 7@ @) 17

following country ?
(A) China '\  (B) Austria 1 © wama By 129
; ; ,_,_..o ternational Labour Organizal
(C) France (D) CostaRica thw mmuﬂzow& the iow_an Day wmuﬁﬁ
.,_ Chi our in 2002 to fi tten
32. udmuwﬂ.m ...._ﬂﬂ_.m TAAal S SRR . on the global extent of o:m.mgﬂ—waﬁ MMM
(wréig ﬁ.ﬂﬁﬂ.ﬂ.@ﬁd Fyfpg T w | the action and efforts needed to eliminate
- it. Each year on which date World Day
it} ? + against Child Labour is observed ?
I a) fE - © (A) 7"August  (B) 1"May
wp ) ® © SJuly (D) 12%June
©) TR (D) =gU _
36, FPafafes o @ fra ow <= = fmm
In dnE. _u_.&nmr the Government |' =
 Freedom Struggle Museum (Shaheed w.w %Mﬂlﬂ%nﬁ G&Auﬂmmﬂmmﬂq
Smarak) is established in which of the | + T& fRufert a1 e 43 % fere fftre 2
following location ? . A s e g R 2
(A) Meert  (B) Chauri-Chaura | = (A) TRRY ~ (B) Jmdies
. (C) GangaGhat (D) Mathura . (C) e (D) THEEst
J . Which of the following special fi i
33. IOURW A Eel €l ¥ 59 89 W PMJAY ¥F | mandated as the elits %ammm e
; - respond to hijacking and similar securi
i 3 e 2023 3 geer T g 2 | situations on aircraft and airports ? v
(A) 3ErT (B) @R ¥4l . (A) NIA (B) RPF
©) fam ®) ﬂ? ,_ (C) CBI (D) NSG
Uttar ?wnnmr has recently bagged uqc__ o afwe, W 5ew .%_. Rl
awards in 2023 for its execution of | Frerferfera & & forar foret 7 <t ord oft 2
PMIJAY in which sector ? - (A) .mﬁ._.m._dﬂﬁﬂ._._._dﬂv
(A) Industries  (B) Healthcare . (B) S
(C) Educaion (D) Agriculture - (©) s
34, STORT 2011 % STER, I W T H M.U_uv mm_ﬂ_a_m“m %

L ¢ Board of Revenue, Uttar Pradesh
gy fem R 2 s .%Bwf:.& in which . of the
What is the ‘overall sex-ratio of Uttar ollowing districts ? .

Pradesh State, according 1o Census 20117 | () varaomey D)
(A) 982 (B) 892 (C) Meerut
© 912 (D) 812 (D) Lakhimpur

A oo e
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79 o P 47,
mﬁmﬂﬂﬂuﬁaﬂmﬂsﬁzﬁ@sa .murd.muaw. 32024 § Byaw mﬂﬂﬁmm@%%%aﬂ&wﬂ "
Awsas w_ﬁ N - V Nma&u di E._._,_ Mcw h S © wher m
in Nov: 3, In it s
ot me%gwn Mm nmﬁa Eaaw o . AP ou._ﬁ o Which of the _.o__ozam is nﬁ S_U_E % Wh
in Joint Military Exercise “SuryaK* " oin the BRICS gro untry refused .- Philippines ? at is the name of. ma _mn%_. f
(A) sLiks (B NOE" A (B %m_.wﬁ (A) Bangkok ~ (B) KulaL Chandrayaan3? g
(©) iNeps! (D) M | (C) Argentina (D) = (C) . Manila (D) Jakarta _E_E : MMW M__Mw. pens, o (B)g ?.Ba%
39, @ @ §, o 3 FEP b (43, 2016861 ¢ itya (D) | Vikram
, T . é m?a & 48, v § g o R e
e o 47 T % in%ﬁiéaw \ﬁa T 22 af 5. T, v ) AR e
Which denominations of curren : o, uﬂdwﬂﬁd@.mw%m&auﬂg
taken out of circulation B et | () 2657 (B) 31 uﬂﬂﬂ ) #3 1ICC (zaf
demonetisation done in 2016 ? in % the ¢ (C : - Vﬂ—mﬁﬂmwﬂqw.m
off (A) 100&500 (B) 1000& _ ) l4F@ (D) 2IFRE (A) ®) " e
(51} dtall | om AOH— 1000 & 2000 AUV NOOO@M% The twh.m?ﬂ:u\m. Ekta Diwas” ﬂﬂuﬂg ﬁOw nq%g T
:_A_m._____m»_._,.._(,__u,_,_.____.;.“. 44, I W F, WA HRY oA ol on which date in India ? Recently, The Pri Bw ﬂ%:m
D SBEM_ i femg? : (A) 26" January (B) 31%0 ﬁovﬂ Tudic's _mp.mnmﬂ noﬂﬁn”w_“_“.mpﬂ inaugurated
m 3 8 Ry 759 & = 3 A (A) #@ (B) @S (C) 14® November (D) 2™ October- centre [ICC Qmmrogooa‘pﬂ_ esibitim
.n@ugn_ﬂ i (©) AR o 49, W_ﬂ._mﬁmam d 3B )4 which of the following n._mo__wm_w located at
oo i i i o In Uttar Pradesh, where is th Ty S (cE) uw (A) Varanasi (B) Farida
" ﬂn,\hwan?“~amagcm:qam _snm—nnw s BREw Db aw e nﬂu%“&
; 2y cerut (B) L (A) T g Fores iy
MW“ \w :_ _h (C) Prayagraj aw K_“”MHE (B)  HTGHETS Sad) m 53 e A B9 W v ¥ gfe W
L St % areqd & Ko o FHAR? 3
__.___.wmm (A) i faf) & : . . i 3 4 g%m@ﬂq%ﬁﬂﬂ
___,._Hf,m :h: ﬁ%ﬁﬂm %Morw&w.amﬂ , _.3 (B) WERR .
(Tl (€) TAEITR ich of the followin i ©) wft
: g famous auth
_w_nn (B) Telangana MW_._A. .ﬂmuﬂdgﬂﬂ WMOE:E ‘Upanyas Samrat” ? o:_«m (D) eI =5
fshtra’ (D) Uttar Pradesh s mmm%mnu:”ﬂ._unzﬂm_ i Mww nuwnrﬂmnmr Rai Bachchan Which of the following is th
= 15 i
ERRLInR e kel (B) Government m”hmmw 5 R e honou o Palicomlndi?
E?ﬁﬁ SRR SR (C) Goodsand S P2 (D t Tripathi ‘Nirala’ (A) President’s Police Gallan
ﬁﬁ@ﬂ@?ﬂ&@ﬂuﬁwwﬁ (D) Goods CrvicRelTax] ) Munshi Premchand ; +(B) Mahavir Chakra iy e
mﬂc i i« and Sales Tax : 50. e @ 4, 5 MWV Padma Shri
ﬁﬁu‘v S%ﬂun%ﬂu 4 . ._W.ﬂu: ﬂ#mq wa 5..._.&._.& ﬂﬂ;rl-ﬂﬂ | ¥ wafa R &%w,@mﬁ.@ﬂ& ) Pumm VieCh
D) mﬁﬁ%& T mﬁ&dqa%_uuq& o 7 a_u_mm@ﬁﬂmﬁauﬁ 54, @aﬂ&@ﬂ#ﬁmigﬁmﬂ
Which of the fol w1 | _ . & 99 | T . !
1 F - B ﬁ.—d—.—ﬂ.—uﬂﬂ—
nEo operation ﬂnmssmh%aacﬁn name of (A) =Yq Awu. wuﬁ (A) _wﬂum (B) azfi= o e man | H
xacuate Indisn ationals fom Rusi © ww () w © @ (o) el ), v B) fim
0 ssia- %
(A) Ope nu_c_mn Mmmnza sia w\wnm W_._Ea Minister participated in Sant Recently, Chirag Chang § © (B) !
(B) Operation Dm:mmm: nn:..cqu Janmotsay,* a program 1o i won Major Dhyan ¢ el m_unnm In th : @) R
M%y Operation ?:mmmg%m St z_m_ _”ww_muug birth anniversary of Award 2023 belongs ¢ hand Khel Ratna. g sw moma_ media network formerly
) ORE_% Sujay va Mathura. Kurki (A) -Cricket ﬁmussmﬁ”oi % sochook, Ing. was renamed to
) Dwarka (D) Rishikesh (C) Archery (D) wy g (A) Meta ) Bing!
By : A S e estling (C) Orkut ) ing!
~ s T (D) Twitter
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(C) u-H= (D) wm-9g . U (C) amwmwA - (D) gewEE
’ .
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r w i
03. TN : 181265 +5xg,
1727

Simplify : 108 +36x 7 +5xy Mouw%m

(A) 6/5 @\mﬁc 253 |

©) 4r5 (D) 1521 - ”
94. WM W AR : (s
_.:./....P.

5.061 +3.98 +0.7034 + 7.

1 the ratio 9:17
(€) 24 (D) I2

50% ®, a B, (A - B) =

A _mnmaw\_. onw then B is what percent

I301 between Mihir 'and
Diptesh,
3

of what Chinma %

end of the year, amﬁomﬂ earned is
¥ 5,500. What is Enmwﬁnomnr_uanw.w

OGN 2K G., (A) 2,500 (B) TL500
(A) 40% (B) 283 7% () 28@ BM ¥ 3,000
© 3% @ iy ﬁ_aﬁﬁmﬂﬁax_w%ﬂﬁa
@sﬁuﬁmm _ﬂmumw_%maxﬁﬂﬂﬁﬂ@ﬂ%
A) ﬂm%mﬂﬂwi T T 12.60 7 3 1 BT, @ I 30% H
(B) Mzﬂaﬁuﬂmw 19 B | TG 1 Y e T i |
Mmmw %@Nﬂﬁﬂ?ﬁ @ A man sells an article at a profit of 25%.
The number 323 has \ } If he had _vocmrﬂ it at 20% less and sold it
(A) No prime wmﬁoa .F wo_. mm. he would have gained

(B) Four prime factors L

(C) Two prime factors

GL-4 1

E CfOuDﬂ -u_sa
(D) .ﬁ:. mmﬂoaw.Tﬂ@Nu K;V%@ 760 ﬁwv T50 (C)T55 (D)T45

e cost price of the article.

A

13 1301 38 WK
ufe 1 fr, o et
TR, S 4% Wiy
ST R | R

so that the amount on.g_En_
Jdter 7 years is equal to the amount of

| 4 .

%u%ﬁﬂamgw?ﬂ.maz 741078111 ; mﬂ@@maw_ﬁﬁﬂﬂﬁ
¢ m_aﬂ%w@mﬂwﬂgm mmwﬁﬁwﬁﬂ&@ um_#s -
| A /pﬂ%ﬂ FHFA T8 HEHm R | [ EILES it
g - € .‘%ﬁn@ ERCERC kA E ol %@Mwﬁwﬁﬂ% ﬂwﬂaﬁa%
4 D e e AR | 0. Nos 107 to 111 : %mge&waﬁ
_,?rwﬁr Mohan and Shyam undertake to do a |answerthe

%, /&u
\r\

,L

&? (

m

105. T WHEfRer 1o 900 et 6 gt 2 fre Womm@ommdaﬂmsc%nbmﬁnggqg
\

s can do it in 8 days. With the help of

piece of work for T 800. Mohan alone

Number of omb&%sm mﬁﬂnm_.nm unm_
can do it in 6 days while Shyam alone

m&ra
in a competitive examination .de
states over the years are mentioned in En BEa

iptesh after 9 years, the Enﬂnmﬂ__..,wnﬁm.. o) Ramesh, they finish it in 3 days. Find the | | e/ state | T/ Year W Ta
ympounded at 4% per annum, What i s‘. share of Shyam. 2000~ |5 2002 — B
part of Mihir ? ._._....m 0. (A) %375 (B) %300 5 \m,,.m sw_u“ %w ﬂmﬂ M%M %
(A) %676 B) 620 R'ax A _._,,HG \J. ; e wu i . mﬁmv A 5000 |60\ _ 8300179
v SR B 7500 t
4 L(©) 653 A > @ | am ,wo 25, sﬁmﬁw EMHQQQOH Lo 2200 1 Ty
It : o A jmany D 000 | 960 | 9600 [ 1250
To0. ) sfiies, fagne fAm T ; g 2 o 29 ..,135 7 Q«mm. E 7500 | 860 [ 7700 | _ 950 \w "
@ & | s, feands B3 m., 7 [ B o B _mf@ ([ =/ Year e
srfues g a1, Bt g \% o ﬂﬁ%ﬂﬂmﬁm?ﬂﬂ.w% = ﬂﬂﬂof& ﬁ@wﬁwgf mmwawi..% L \g
fordt T e 1 23 Fodw e 2 1w 3 | Qual.| App. |Qual | wl | " 1
45 1 G 2 : m.m_ﬁﬂﬂ_ﬁaﬂmoca &Y A | 70 7000] 800]_ 9800( 1100
WA W, E.Emjﬂrmumoa@w_?ﬂnﬂ—i\;.\ R | ol Srerd s A | m}._....w. B 84000 F-950| 95008 90 1000
T C
ferqr fapa 2 2 ..M a ' Alawn is in the form of rectangle having i D w%% 1000 MWNW \wus mwww, 1000 m. 300
s sides in the ratio 2 : 3. The arca of the lawn | [ & [ o600] 1300] 7600|5401 7550t 580] P°
Abhishek, Bimal and Chin @ )
partnership, Abhishek i times as a\. Nrmuccmﬂw:wﬁaﬁawamﬂbﬁ\ﬂw%ﬂﬂ_mﬁﬁ. L 07. Wﬂdnm.&wm&ﬂdﬂ D @ 39fer R ‘ﬂ“o
much as Bimal inves &wmﬁu Piﬁ (C) 40m (D) 10m m._@u.nwﬂm_._.mﬂ 3t 1R 7 Nl
UH__

© What is the average of candidates who &4/ _

30 ¥%e 78 Hw R | Wnfew M& m.,mw
foreft/erer g fe et 2 2 6o 3 % wft ofs T
wo A cyclist covers a distance of 900 g ¢ \W&. T He | W
Y 2 min 30 sec. What is the speed in ; b ﬂw_"_._ﬂmﬂ S ? m 8&\,..1
: e approximate percentage o
th_omom.ﬁn_az HEA 6 (v@.» ﬂ@v\ncsc% ﬂow nch:mnm nmnamﬁnm to the
C) 186 D) 1.67 total number of appeared candidates
: ® 1 /\H\ among all the five states in 2003 is
wEAl 3§ & gudt, veeh & A R ik (A)18% (B)15% (C) 16% (@I12%
it & ot v & | o i s (109 2001 8 Ay

oA 66 2, T T B T yra FifR |
Of the three numbers, second is twice the
first and is also thrice the third. If the

average of the three numbers is 66, find
the smallest number,

from all the

states ' in 2001 s
approximately what percentage of the

total number of candidates qualified from

11 the states t 20027
(A) 24 §B) 34 (C) 22 @) 36 @) 8% @ cqm&ﬂﬁ%?e
au&;v..._ssi ST 8 s SNV o S, PN T SO L T SNPIRLATY TR
I T S 3
V-
WS i s S BEEAR

¥+ &L



, _ T C
g m»ﬁw%iﬁf? @&
Fafigardl & favra e & 2
In which of the given years the

maximum  percentage

10 &1 Hehd & |
d identify the people
languages.

- e

/5 / German
F+D+G+FE

2c | X

i 64243="

e | stands H.cm..._mms.mma:. ‘+' stands for
1" multiplication, ‘+’ stands for subtraction
and *x’ stands for addition, then
18x36—6+2+3=7

18 (C)8 (D) 3

T 39 @ 1 A B F 7 g6y 5
T Sreet o @ wwgT d ;

Hﬁmw__.ﬂh relationshi Qh—n“mumb_gf&mor _uﬂm~ —.
1 on e pi . v
uman beings, mam anma et

w© ® O

OO

@O ©) 9

PENTATY Vi AL B ATV S S T PR ATV e

of candidates appeared m.o%, state C wum

v (115,
i 3fif [

.
given, followed by four words, one of n
which can be formed using the letters of 0.
the given word. Find that word, A g : .._t
DETERMINATION 1@_ﬂ 4 Q)
(A) TERMINATED el
) DECLARATION PR e (T
(€] DEVIATION NS 2o
-1 NATIONAL ﬁw c@? :

=7 [ 116. el 1 B g @ s e i

given letter series shall complete it 2

En&%‘_ﬂﬁoﬁﬁ%ﬁﬁ i
(A) OSPSRQ  (B) QSSPRQ
(C) QSRSPQ (D) QSPQRQ

7 fow o faeredi & & a7 W
. #RFET T T 4T ; 1

or

118. =R el # @ & f ampfar () 6 7
b - il

. - Choose the correct mirror image of the
- given figure (X) from amongst the four
. alternatives. : .

{64, 47, 30, () b A E\, s
(4) 17 (B)13 (C) 15 (D) 1 Fa

7 T T o
s v oo £, Rk @ gy
2 HETTT T TN Fleh ﬁﬁu—ﬂﬂﬂ.ﬂ
T HFAT 2 | 97 82 g B |

In the following question, one word is

wﬁﬁ&ﬂ%ﬁa@@ﬂwﬂ%ﬁ
T 7
Which one set of letters when \_

sequentially placed at the gaps in the

P&

thepwill complete the s

BIETERDS

T®
(A) @)

B e P

B @ ©@ O

14

A R, A T TR S BT T
’
= . A
: J
Z /

45

12

WA P g w R 2

122.

)
tAGDJ :

(A) CAGH
(C) HGCB

- Pt smefa  fra By &2
How “many - triangles are there in the
following figure ?

, T 3R 11 et weran 8,
Mﬂ&mﬂum%«wﬂawﬂmmq&mmﬂw
T gea & 3 12 Rt = R,

Tear & afk 6 feft ST 2 | 9B

'

@y 1R @) 23fmh

©) 12fmh (D) 17
A person moves from home position
towards west by 6 km, then turns right
and moves by 11 km, again turns right
and moves by 12 km, again turns right
and moves by 12 km, again turns right

and moves by 6 km. How far that person |

is from home position ?
(A) 1km (B) 23 km
(C) 12km (D) 17km

A= 1y e 397 H, v weg-gm e mn |
2, 3a% = fawes & w9 § 9 yre2-gm |-

fe T & | vt @ gm
W] % A FHH HAY B |
ufy : GagH

(A) HRIH P (B) W FE
() m:feeft (D) wiwsh : ¥
In the below given question, a pair of
words is given, followed by four pairs of
words as alteratives. You
to choose the pair in which the words
have the same relationship.

Gland : Enzyme

(A) Brain : Cortex

(B) Generator : Current

(C) Organ :Kidney

(D) Muscle : Spasm

wﬂ:mwam_

o = B qfves i 3 6 Rt s

L

are required | -

1

¥

o

° decide which of the

...._ ~ Arguments :
e 1

il _
"8 ! 98 T T 8 R B /R v

O YA T 14 9 g
3 fore e arfiard S S

=

A3 R e e # o e SR A,
11, T 3R IV shwifea SR o< Wit § ¢

§ w7 /8 ok B W/ e
§ S B
5 A o Sl as,

g 2
..1d*u. »

Tl ® O U 6y

B ek

: FUHE IR AR |

T8 | TRk o g S # Rk
rafr G ot

21 g

. &l ) 5 S = d gfg B

L\ (A) FEE ARV A E |
o A(B) Fae oA R |

L (C) FE@isRUTEEEl
(D) ¥EAIVHSEAR |

Question given below consists: of a’
- statement, followed by four: arguments

numbered I, II, IIT and IV. You have to
arguments  is/are
‘strong’ argument(s) and which is/are
‘weak’ argument(s) and accordingly
choose your answer from the alternatives -
given below the question. ~ © | =
Statement : Should education be made:
compulsory for all children upto the age
of 14 years ? et

Fr e

Yes. This will help to eradicate the
system of forced employment of
these children, i

IL  Yes. This is an effective way to make

THBE the entire population educated.

III. No. We do not have adequate

infrastructure to educate the entire
* population.

IV. Yes. This would increase the
standard of living,

(A) Only Il and IV are strong.

(B)  Only Il is strong.

~ (C) OnlyIandII are strong.
(D) Only1V is strong.
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ﬁw.mﬂ_ mm.@._.— .mﬁ:"

_emm A |.%.@ﬁ.@.&.».r.} _

s AT |

. a0
Ay (A) FRLAARD
B 7 (@) FETWNF

Latement
numbered |

is/are implicit in the statement.
tatement : “Do not enter — avoid the
risk' of getting infected with the ABC
ase” — Written outside the quarantine
. 4 (meant only for ABC discase)
hospital.”
umptions :
' Disease “ABC” is contagious
All the patients in ward no. 4 suffer
| . : from disease ABC.
S < (A) Neither I nor 1l is implicit.
[+ 2 (B)  Only assumption I is implicit.
(C) BothIand II are implicit.
(D) Only assumption I is implicit,
W. €. 1259 129 : Ftfaftan Smad & amgde
T
R |
Frefi -
(a) F9 8 T 60% 31 % @Y hFEHT
ﬁmwwaﬂwm_ﬂ | “ i
(b) 1 e 2006 %1 W9 q FH 21 7§ 3R
(c) ¥ @ Fﬂﬁawaw o
c) A FH 23% Y I e
Iefiof g1 quwn _H@ :
(d) 50,000 %! 3= TR YTAH HA %t AR
BT T, S afé $ I A
4 st |

B e Pta TN T

;
47550

PSS, LA T A gt

Q.

information carefully and answer the questions
iven below ;

‘ollowing are the qualifications for post in a

reputed company.

Q4 A1 HEFAT B |

1 3904 (d u, qﬁdﬁ@ﬁﬂagﬁﬂmﬁ

o i e St feuht &

fferftaa s w99 8 e

AT 3R A FO oft T R | 7 wh e
(fra) sment 1 |8, 2006 Y arivg W Rumu |
Nos. 125 to 129 dy the following

e candidate must-

(a) be an Engineering graduate with at least
60% u._m_.mm.

(b) be not less than 21 years and not more
than 25 years of age as on 1¥ May 2006.

{c) have %nmma..._ the selection test with at
least 55% marks.

(d) be willing to pay a deposit of T 50,000,
*o be refunded on completion of training.

However, if a candidate fulfills the above
mentioned criteria, exce

t R
I.  At(a)above, but num.mv_unw_.om for the last
semester examination and has obtained
an aggregate of minimum 65% marks in
first seven semesters, his/her case may be
referred to the President of the company.
II. At (d) above, but is willing to pay an
mwsosmw &._ at momwﬁ 4 Ww.o 0 and has
obtained at least 70% marks at Engineering
degree, the case may be referred to the
General Manager of the company.
In each of the following questions, n_ws:m of
the candidate are given as regards his/her
candidature. You have to read the information
provided and decide his/her status based on the
conditions
provided. You are not' to assume anythin
other than the information provided in each o
the following questions. All these cases are
given to you as on 1% May, 2006.

GL-4
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LA TRV i P ISR TV P SIS TP 0 TN T Y o

A

F 70% 36 W R E, woren $E $

iven above and the information

, Y v

=89 00
AR BT B 3T W & FH 80%

37 Fiftre W <t I9flg W@

ity
sawt T WREG%R |
G 39 gl R | S

©(B) = =l femar e |

126.

(C) TR I T A |

(D) =3 fomen s |

Diptesh has appeared for the Ilast
semester of engineering degree exam and
is hoping to score at least 80%. His
aggregate score upto first seven
semesters is 75%. He has just completed

21 years of age. He has scored 66% |:

marks in the selection test and is ready to
pay an amount of ¥ 50,000 as deposit.

(A) Tobe referred to Company President. |*

(B) Not to be selected.

(C) To be referred to General Manager.

(D) To be selected.

TTE 68% 3w F Ty 2003 # Seinf uw :
HTEE TS ® | Seifwaior 6 ferft wfte |2

B % WG I8 FIEAE F TR % 'y

o

%m.mﬂ%ﬁiwgﬁ

Ixfiol &Y § | & < 50,000 1 I |
TR T P H Th B | I TR

15 R, 19828 1

(A) o WS = W s |

(B) =@ el fomn e |

(C) WSS Y U1 ST |
= e s |

ahi is an IT engineer passed out in

2003 with 68% marks. After getting the
engineering degree, she has done MBA
with specialization in Finance. She has
cleared the selection test with 60%
marks. She can pay the deposit of
¥ 50,000. Her date of birth is .15%
September, 1982.

(A) Tobereferred to Company President.
(B) Notto be selected.

(C) To bereferred to General Manager.
(D) To be selected.

———d

i
m...MQ.

128.

> ©

= PrRwa i 6 Jfm

wta # wmfirer gan & iR 9

2 | 30 TES e AR F € vl i ww
ot gt 1 36 T & F 22 7 i
g0 A} | 3 o - w9 H 50,000 %)
gt 1§ il &1 sy FA F B wwen
& & | I 58% m&wﬂg_ﬁa

T H R |

AR | .
(B) WEINEYS i WA ST |
(C) At MRy Y Wi smem |
O =mWfemsmom
Shyam has appeared for the last semester
examination of Mechanical Engineering
and the results are awaited. He secured
first class in each of the first seven
semesters. He has recently completed 22
years of age. He has no problem in
paying the required amount of ¥ 50,000
as deposit. He has passed the selection
test with 58% marks. 3
(A) Data inadequate. \
(B) To be referred to General Manager.
(C) To be referred to Company President.
(D) To be selected,

a1 3 S, 2005 F 79% W ¥ A™
Ffere weittafln 6t faft gm 6 | 9
=7 wlen # wite g, R 38 0% (3
et 3wy Ieivl R | g SR 28
9, 1983 8 198 T 50,000 A S fRAfyf @ ™
TE ®, A W ¥ w9 F 230,000 FT,T

PRAAFAR TR - oy
vl

(A) STTIAE@R )

(B) = 7 foan smam |
(CY” TRTTEY ¥ ST |
(D) <= R s |
Shreya has passed out Chemical
Engineering Degree in June, 2005 with
79% marks. She appeared for the
selection test which she cleared with
70% marks. Her date of birth is 28" June
1983, She is not in a position to pay
50,000 but will arrange to pay < 30,000
as deposit. :

(A) Data inadequate.

(B) Not to be selected.

(C) To be referred to General Manager.

T N AT RN s
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(D) To be selected. .
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BT S -
4. | S
,\m\ Dol R Q,w :
. fa 2003 | 131 B BT i w9 i g
129. wﬁﬁ%ﬂam«&wﬁw. p%i T asg A Iefigy
mu_a%%mmi_g;ﬁ - = Hat-tififes

£ | va) forht e 3 76% 3 ST 4 .

e it 720 3% W4 B | =8 1 S &7
mnmo.go&a?ﬁmaﬂﬁaﬂaﬁ
(A) e e St S e |

D mﬁﬁdﬁwﬂgﬁﬁwaﬁﬁ&
|

You are stationed as a police officer; a

distressed father approaches you saying

his 23 year old daughter has eloped with

her boyfriend. As per Supreme Court

directives, you should :

(A) refer complaint to village council
for settlement.

(B) support reconciliation without
criminal charge if consensual,

(C) arrest the boyfriend on charges of

enticement,

(D) file a kidnapping case and
investigate.

132.

0 e BT

ALz )
INFETIH

SRR EE 6 o]

12 1 wdwiE A Eeh) @ -

e % ferg were S AR |

i Afss  Wfe @niRe)

TS %1 G AT TR |

T2 I g A () AR gl :

TETTHA WEH T =R |
1ou are stationed as a police officer;
u receive intelligence of an inter-
lizious  couple facing harassment
threats from fringe outfits.’ You should :
(A} refer them to protection officers
as per procedures.
(B) counsel the couple to avoid public
interactions.
(C) suggest their voluntary physical
separation.
(D) provide security cover and safe
transit for the couple.

1 ww gferm fued ¥ w9 % F9w 2,
TEYH % A9 9o faae B e I
aftes del 4 HEyaH A9 9 B hl
el &) B | YR Wi
(A) 399 BT RS $

(B) "okl o i g 3

srau 1 yateat % g e

1571 1 T TR T =R |

You are stationed as a police officer;

agitated labour unions threaten to stop

essential services over wage disputes

with management. You should :

(A) impose fines and charges for
illegal strike action. :

(B) assist dispute resolution dialogue
between stakeholders.

(C) forcibly stop attempts to block
critical infrastructure.

(D) arrest union leaders immediately

for disruption threats.

(D)

P N T L AP A TR Wal AUV (T P s T Vi P L _—

GL-4
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A

R

. ‘corporate fraud by an industrialist who
. then ‘offers a personal settlement and
" closure help. You should :

.....n A ).v
* (B) commit to investigate the fraud £

134,

133.

..AQ avoid

%&ﬁiﬂw%&?&!@ﬂ |
i fprga # fireft 2 5t e Freem

¥R TR 7 wEEn A e § |
(A) T = 2 G @ WA TR

ProeR (emsitan) = wfwR e |

e |
(B) HramE & 7 3N Freaw i w3y
% forg wfereg T =13 |

(C) Trht oft 3= maE W1 e Y amy |

ST site =Y e IR |

(D) Siter % 8d ot 38T W 9y _

i & 37ifTes ¥4 8 BT SR |

You inherited investigation into

secretly accept settlement while
declaring case closed

‘fully and impartially
. witnesses or records

(D)  partly deviate from incriminating
© evidences under legal scrutiny

Y e st w9 3§ |

Y BTt F ST genaT H AEen

%1 GoTs & fore, IR :

(A) Tawie sk % aemm g
SR Y2t 1 R F1 =M |

(B) Tyl &ftg s A g gy
ersfT s =fE |

1 =R |

(D) fiws sy shem o o deg |

AR A qars s Ry |
You are stationed as a police officer; to
solve a series of undetected homicides in
your jurisdiction, you should :
(A) study behavioural patterns through
psychological profiling

(B) complete DNA profiling of entire .

regional population ’
(C) data mine CCTV cameras using

1
135.

examining any further |

facial recognition scans
(D) question all existing convicts
with violent crime history

19

Hﬁnﬁﬂﬁsm@ﬂ%ﬁﬁlﬂuﬁ.
# | 3177 o ot a9l @ S Rw § v
R R § ik v A 3R T &
Y TR HA=ST & TR
. F HR, T wglt
qfer 2oy & SR B o 2 gt
T AP W 5 TR 3 A
FreT gear & | ! IR 5 17 we

i3 3R FHEY gl & LT

Lﬁqﬁiﬁsi\%@w%ﬁﬁﬂ

ey it wieg & A R @

9 AT ot g FH MRy |
@%%ﬂﬂ%fwﬂaw

s e % w9 IR HEn 9y

3R g i et A % forg dam
AT TR | Fy

(©) Tt =g amfior W R i

# A wT =TI 7 a9

1 3N st i @ s |

O T HH AT FAT

wifge 3R aefior R F s st

TR IucIferT &1 TR AT AR |

You are a sub-inspector in a rural police

station. You have been working in the

same station for the past five years and
have developed a good rapport with the
local people and the administration.

However, due to a reshuffle, you are

transferred to an urban police station

where you have to deal with a different
set of problems and people. You feel that
this is a difficult and stressful change.

You should : £

(A) accept the transfer reluctantly and
hope to get back to the rural station
S00mn.

(B) accept the transfer as a part of your
career growth and prepare yourself
for the urban challenges.

(C) seek a transfer to another rural
station where you can continue
your work and interests.

(D) request for a cancellation of the
transfer and cite your performance

and achievements in the rural
station.

D)

T 0ot P S TR oo PO T & P L TE Y S LA T P L ST

GL-4




2 g iy B >
6. S U UE R e 3 b g
B T Sy & 0 TR e it o S i ; v G w CEs
= S m&ﬂﬂg@ﬂam B s w 140. TF IR afeerd F &9 H, AW TH _ﬁmﬁquwﬁd#ﬁnﬂm&mmﬁmﬁw__. o
HIGH + " & Rl : il e ﬁ _ ST St 3 ot & | Pefafea da (. wm gt ;0 (D) "_.u..,”__._ x _
®) P dee-w-F1S H LW TE S  wefe w TG e H T e T (D) i @Y
gpEREEA Rl q.. B =& FF & o et #y (A) S STz Find suitable alternative in place of *
(C) e T (FIR) T T T o TR b e 3 o i ®) T : | e :
Bt i g %ﬂﬂﬁdﬂﬂﬂ% i o oﬂu.nwiﬂﬂﬂmﬁﬁ Foret sreesan (C)' Prwardtame ' Russia : Moscow : : Greece : (%), -
el ._ o oot (D) o g Rt ia) Tokyo (B WDC

o1 AT ST T GETET &A1 R |

- @ police officer, certain religious
Kl arc raised denying equal
s for widowed, divorced or

Iss cases outright 'if norms

As a police officer, you are involved ina | £~'(C) London (D) Athen$ S« St

criminal investigation. Which of the . et e
7+ following is the name of the document 143, .t gfer™ sfrerht & w9 &, 3o g ]
__that you have to submit to the court after | gy i

~ completing _Enwuﬁmzmmaon g
., (A)-Bail Application

lished n_:_::mmms long accepted in  the L5 .........\,..” A = b
«w.wnnogv_ (B) refer mm.mww to fast track courts ) nwvwmﬂ#mm,.maw_mnnﬂ Geret A E R A g ) A
1 news unti iy e deliny (C)  Arrest Warrant (A) iR s F @Y fige
efore focusin; un a district awarenes i Bt Tofamat: ey .
P .z .Smm a5 drive on gender rights, i A e atiEhion Report L @ s @ e e it |
b .. laws  su i ; i bait . :
ey | traditional n&sﬁuw.__wa.._ ing  unfair 141, wrgEes gt 1 # e AR | (@) fim H wwh F w wEd ae
e | X FF % w9 F, F8 St R U AT 1 & ? C < P R we TRk )
i 3 S SO A ATt T fe ] . Bt - L
7 % TR TR W G HRed A_Mv_m_ _mﬂam_ :,m Sl () RIS ﬂ&_. i A fen & R amafis 3% (F9)
| famrf % fere T R s 1o et
B) freh ot grwher el fope ) frared - vy & iy | (B) awEnai @l e & forg FranRedl & % PP et
i @ F fau seem o (B) dfaa weonfedl & orRrEt @ o fyvar iR qreme s | D
eI ST A1 =R | w0 g fafaeran e AL (e Fa) 35 o 2 TR AR At W SArTEwa FAEET F A
@grm.ﬂ S b il k HEIC! o HETIRY |
W =feTe wY ¥ S B w5 (C) wEWfTaT g W) = 55 A1 1 I HT | K. . :
TV e e T W | (erf) e % fore wHeRt S Y (D) Fu B IR & Ry g A B
(D) =& ¥aw Sandt o : IIF DR Ll etz _ M.M...Eaa amendments in laws upholding
T e 5% A1 MY SR vl g i e BTQ rights, i diti
I = Prea W aw . (D) UHafE WmeT A g A Which aspect of community policin i Qg SgRins A c -
e e s Ay ; p g religious sentiments. You should :
Wikt Bivees e | y . fowowg oo st SRR @ resonates you most ? : : o
When investigating identity theft and HET =R | SN T (A) Respondin ; JA) = dape hmen Giglty commiions
MHWQ_MMMWMM =_n._m._am,mmmw%= Mm_oca s e Ay a .ﬁo:n.c, officer, onms.mu tribes nmmnmmuzw i to nc_ﬂwh._umamnzhmm ety coge g maicalis s
S, | S o g onglydeenad eponahy b oy by 59t i
) o e EES_N. 10 reverse- (A) setup watchdog complaint cells to (B) Building trust and rapport with fuge . Geneis  Spwwedo
C gineer any phishing Kits retrieved, monitor forced confessions. residents t violence.
© mm..mo:m:w call victims pretendin (B) enforce diversity quotas employing S3deris To peevent peablogie, ; ; :
I m...i_nn_mn to extract ba o i obdelonsl (8 b et s (C) Using advanced technology like (C) table community interactions
5y ofbrmation, (C) table meetings with communities to drones and  cameras for harmonizing religious doctrines.
(D)  setup cthical hacking traps portrayin realign engagement approaches. * surveillance (D) lead locali
as criminal buyers on dark web, - - (D) implement mass counselling B = A PR egd -
.. I . programs to reorient traditional beliefs. (D) Increasing police visibility and campaigns empowering inclusive
patrols to deter crime. : lifestyles.
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o se the correct alternative from the
at W111 complete the series.

F\O
(B)

8 (D) /8 ::4-
- f-"'%?l CTARIE] ﬁ “ROM
m”%mﬁﬁ“—r@w%?
«“WATER” %t &4 feran s ?

In a certain code language, “ROMAN” is
‘written as “IFDAE”. How Wwould

 “WATER” be written in that code ?
(A) AEBEI (B) EIBAE
(C) IFAEB (D) EABEI

" e wrfen O A <R 3 10 el <o 8,
- TR o e & 3fv s foerft s 8, TR
2 e 2 3R 11 feefi wreran 2, R A and
Tear & 3R 5 flt werr 8, AR m_
w%ﬁtl%ﬁwglaﬁaﬁﬁw
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A person moves from home position
towards east by 10.km, then turns right

~moves by 11 km, agam turns right and
- moves by 5 km, again turns left and
- moves by 1 km. How far that person is

* from home position ?
~(A) 6km (B) 16km
“(C) 2km - (D) 15km: |

. P v & 5o v R | o

9 57 & v =it gam 2 |
(a) = ®) = i
© = D) ¥F

In following question, some. wordg are

given. They have some common featy i—

“except the odd one. You are required to

54

ey pﬁéﬁﬂ%ﬁ S
1 QO HT |

miﬂ‘

,5(

WA e gme? - 3
(A) 6Tt ®) . 165l |
(©) 2 femlt (D) 15 FFdt

~and moves by 5 km, again turns right and

o ! B 7B TR ﬁa‘rqmi %;;;-.1 '

71
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148.) afe “SO0V ‘NI%{” TR & e, diR,
qied 3R Ted & B I wE
HYH IS Tog T B (T e} 1

/. ¥Ea T 9 I R am R) @ @
fFr g emaewigs QUE F\
(A) 3aafts  (B) 2 QL ES
(C) 3 (D) 1 AV — =

Y4) If a meaningful English word has to be
@ formed using 1%, 3", 5% and 8" letters of

the word (each letter to be used once
only) “SOUVENIR”, then how
such words can be formed ?

(A) morethan3 (B) 2 /@ (
D) 1 n‘f&,

& 3

149, T 9! UE (noon) % FHY I I AR 2 |
. SR 20 e W, W i gd ym i A &

A clock is started at noon. By 20 minutes
past 5, the hour hand has turned through
- (A) 160° (B) 150°

, C) 21552 - (D) 145°

T, T % wede T i |
, WG H AR, B 376w frgm
HEH WTE AR HA 2 | IRER F gl
AT &, Foreh IftesTd 379 &2 Tt
7R A § | Tarer s 6 W w35

T M E s W P el
:PIE:T %ﬁ Fﬂ?l B2l ﬁ'??ﬂ % ? . ‘;‘{-‘-h‘r -
(A) s (B) o=
©) i (D) 3t

Among her children, Ganga’s favourites
are Ram and Rekha. Rekha is the mother
~+of Sharad, who is loved most by his
~ “uncle ‘Mithun. The head of the family is .
““Ram Lal who is succeeded by his sons
o Gopal ‘and Mohan, ' "Gopal and Ganga
have been married for 35 years and have
'3 children. How. 1s Mlthun related to

find the odd one out. Mohan '

(A) Bow (B) Quay ~ (A) Nephew (B) Son

(C)  Stemn Deck . _(C) Brother (D)’ Uncle
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